(4X)
BACK L |50

5

%

2

<

5
l [ ]

9 d \ b

[

(6X) om
TOP
SCALE .5:1
1 REQUIRED

NOTE:

1. BREAK SHARP EDGES & DEBUR.

MACH INE
MACHINE
ANOD | ZE
INSTALL
STRESS
INSTALL

N o g~ 8N

SURFACE FINISH TO BE 125 RMS.

FILLETS TO BE .015 MAX.

PER MIL-A-8625. TYPE Il , CLASS 2 - BLACK.
INSERTS AFTER PARTS HAVE BEEN ANODIZED.

REL IEVE
INSERTS PER MANUFACTURER'’S DIRECTIONS.

ITEM 4.

(6X)

FRONT R

DEWAR SIDE

| SO

/@
/@<5x>

GRATING SIDE

BOT TOM

90°

REVISIONS

LTR DESCRIPTION DATE | REVISED BY | APPROVED
A INITIAL RELEASE 04/26,08 J. BRENNAN G. LANDIS

X X X X 10

x x ; : o

x x ; : 8

x x X : 7

X x X x 6

2 90240A003 3/8-16X 11/16 18-8 S.S. HELICAL INSERT SCREW LOCK McMASTER CARR | 5

1 13448 DEWAR RING NEW X 4

4 90296A121 1/4-20X 1/4 18-8 S.S. HELICAL INSERT SCREW LOCK McMASTER CARR | 3

1 90296A207 1/4-20X 3/8 18-8 S.S. HELICAL INSERT SCREW LOCK McMASTER CARR | 2

22 90296A112 8-32X 1/4 18-8 S.S. HELICAL INSERT SCREW LOCK McMASTER CARR | 1
pesEapTIon s

LIST OF MATERIALS

DO NOT SCALE DRAWING | THIS DRAWING CREATED IN: ?Steword ObSGI’VOtOI’y, University of Arizona
INTERPRET DIMENSIONS AND | ACAD MECH IDEAS é A 721 1-7
TOLERANCES  IN- AGCORDANCE = 93;1EN. Cher r:ﬂ:;:{nue, Tucson, AZ 8572 (520)621-7659
ASME Y14.5M-94 : : :
wiTH D. DEAN 4/06,04 MMT
UNLESS L?PITEEREI:\?ECEEECIFIED ORAWN BY: PROJECT:
D. DEAN 12/03/04 MAESTRO
L INEAR ANGULAR
X - £.03 . CHECKED BY: TITLE:
o - oslos G. LANDIS 03/21/05 DEWAR
R APPROVED:
DIAMETRICAL J. BECHTOLD | 04/26/05 MOUNT I NG
SEE SPEC S-002 APPROVED: RING
DIMENSIONS ARE IN INCHES 7 DIMENSIONS IN [ ] ARE METRIC R . wARNER 04/26/05
MATER I AL APPROVED: PLOT 512 SCALE: DRAWING NUMBER: REVISION:
14476 MMT -MAESTRO
AL  ALLOY
APPROVED - - 1 3 4.4 8 A
6061-T6 NEXT ASSY | USED ON
FINISH PP T CURRENT T IME/DATE/FILE LOCAT ION: SHEET 1 OF 7
ASSEMBLY A LICATION DRAWING ARCHIVE LOCATION: http://davinci.as,orizonc,edu/aced/default html




